Math373 Quiz 2 Fri. Jan 28, 2022

Name:  Selahions

Directions: Show all work. No credit for answers without work.

1. [3 points| Give the addition and multiplication tables for Zs.
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2. [2 parts, 2 points each] Compute the following. Your answer should be an integer in the
set {0,1,..., m — 1}, where m is the modulus in the given problem.

(a) 297 + 561 (mod 48) (b) 136 - (—524) (mod 87)
297 = ()(43) +q, 297= 4 Q"H% (36 ()(57)+ 49 136 = 49 @87)
5b| = () (43) 233, Sl 233 (e 43) ~524= €6)&T) -1 -Su=-2 ) 97)
(36 (- = (- wad ¥7)
297+56l = 9 +33  (ud 43) b5 = [19)-(2)
= [#2] -
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3. Let a,b,c,m € Z withm > 1. X
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(a) [1 point] According to the definition, what does a = b (mod m) mean?
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(b) [2 points] Prove that if a = b (mod m) and b= ¢ (mod m), then a = ¢ (mod m).
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